SAP ABAP table ] 3GADRESS {Address Structure with Update Indicator}

J 3GADRESS-MANDT = T000-MANDT TOO0O

e 0.N MANDT [CLNT (3)]

.- T002
.“" J 3GADRESS-SPRAS = T002-SPRAS _  |SPRAS [LANG (1)]

—_—

7/

—_

--7 T005

_-~" ] 3GADRESS-LAND1 = T005-LAND MANDT [CLNT (3)]
SR S LAND1 [CHAR (3)]

—_— -
o

—_— -
—_— -

—_— -
—_ -

T005S
--------- _ [MANDT [CLNT (3)]
g " [LANDI [CHAR (3)]
- BLAND [CHAR (3)]

T — -
L -
_— -

h T TTZZ
~_J SGADRESS-LZONE = TZONE-ZONE1 0. N
T~ N [ CLIENT [CLNT (3)]
IS TZONE [CHAR (6)]
Tl TZONE
"~~~ | MANDT [CLNT (3)]
0..N

LANDI [CHAR (3)]
ZONE1 [CHAR (10)]




